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B.A./B.Sc. Honours 5th Semester Examination, 2022-23

ECOACORI11T-Economics (CC11)

Time Allotted: 2 Hours Full Marks: 50
ull i =

The ﬁfgures in the margin indicate marks of question. NS SN RIF RGN e w7 e T
Candidates should answer in their own words ST N0 SIFT TR s = T
and adhere to the word limit as practicable. '?G?'\,. 7o .QWI . . A

All symbols are of usual significance.

1. Answer any five questions from the following: 2x5=10
=R @i «ff6f eiovw Sea wies
(a) Define p-value.
p-value X FRE&E 7S
/Oaf Why is error term introduced in Econometric model?
Econometric (S SfFATHE &8 @ 41 7 ?
4) Define type II error.
Ry R =ifEe & A1e) ‘
(d)- What is level of significance? ,
T Slesiciz 12 <5 B @I 2
(e) What is non-parametric test?
-sigifsfeq «5r=1 <0E A= 2
(/f) Distinguish between ‘unbiased” and ‘consistent’ parameter.
e ' YRRIRS AR T A9 S
(g) Define a dichotomous variable.
fares peiced & HE|
}b) What is standard error of a statistic?
Statistic-@d 7S SIS I=Ce & QI 2
(i) Distinguish between partial effect and joint effect.
W SR € T AR & AL FEI
(j) Write two examples of dummy variable.
" wift veea 46 Tized we
Turn Over
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2. Answer any four questions from the following;: 5%4:=.20

R @I 516 2rsd T nies

(a) ‘If Ho is accepted at a;% level of significance and a; < a, it will definitely be
accepted at ;% level of significance’— Is it true?

‘Ho &5 ;% Sl Il R A 4R ) < ay WA, Ol a;% ST Tiqires
PR 2R — s & 5 ¢

(b) “The non-stochasticity of X is sufficient but not necessary to ensure the linearity
of Classical Linear Regression Model.’— Do you agree?

AR SEAART LIS S X-97 SISyl WAE XS, 5% e w— g
o vz ¢

(¢) “The choice of the level of significance depends on the purpose of hypothesis
testing”.— Justify. :

OIAATE AT T 2 A SRR 6o free ' — Tl Row e
(d) A production function is specified as
Y=o+ B X, + B, Xy +u,, u, ~IN(0,0%)
The following data are found from a sample of size 23:
=10 Xx,=5 y=12 §,=12 §,=8
Compute intercept and slope estimates along with their standard errors.
GG B SATS G @
Y=o+ B Xy + By Xy +u;, u,~1N(0,0%)
G 23 M TA (/EE “He
Sp=12 §,=10 §,,=8 §,=10
(=% SE @ BIe S W @ IR S &M fefy el
Y Discuss the BLUE properties of OLS estimates.
OLS wiit<d BLUE s@fet Siiteisel e
(f'In the model Y, = f X,,+ 5, X,, +u, the estimates are ,[i’l =1, ,Bz =1 .1If an
~ observation is dropped, the new values are B, = —%, ,Bz =3. State with reason
whether multicollinearity exists between two explanatory variables or not.
Y, =p X, + f, Xy +u, T
A el g =1, B, =1
43 o AW e g wwef @ f=-L, f,=31 1 v
TRffozTe! it feml e @l
(g) Describe the DW Test for detecting autocorrelation.
7% AGHE s o DW 2RI SicEnal weEt

(h) Distinguish between R* and adjusted R%. What is the relevance of adjusted R2?
R? & ~famifers R? @7 sy #lefe st sfamiie R «a oleon & o
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(a).

(b)

(©)

5011

Answer any fwo questions from the following:

ffElRe @il 76 elvrm Teq wias
Consider the following Classical Linear Regression Model:
Y, =a+1.5 X; +e¢; where
SEp=0.5, r*=0.5, =10, 7=25, x? =2201, =y = 6895
Find the following:
(1)
(ii) the estimated intercept;
(iii) the residual sum of squares (RSS)
AR FEART TR e 2=
Y=G+15X, +e¢,

the sample size;

@A SE5=0.5, r*=0.5, =10, y=
fesfEiie wmef fdy s

() <A =TSy

(i) T @

(iii) RSS.

Specify a multiple regression model. Explain how its parameters are estimated
by OLS method.

a6 @99 eogs Wee fAfWE <@l 93 Wow OLS A& wa fFreiE
ARG S T =3 i s

Specify a regression model with an ‘intercept dummy variable’. Interprete the
model. In this context, explain the concept of dummy variable trap.

(W TIfY 5eToTE, G0 2epige wwe fAfRe @ i e @ @i @Tﬁanﬁw’
QiFeNfo <q14n Tt

25, Tx? =2201 9R Zy? = 6895

~What is heteroscedasticity? ‘Heteroscedasticity in error term leads to biased

OLS estimates of the regression coefficient and its standard error’— Do you
agree? Describe a test to detect heteroscedasticity.

faw fagle oI 30 ¢ it RENRYS AT OLS i efeoiys wzet
T Gife EererE T— 92 Sfel & e sl ¢ R Rl M

GFTH 219! SCETo S

X

AlQUABICANMERA

& Ry
ff m 1\
Iz LIBRARY 2 |||I
10x2 =20 ﬁ-""

" i
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WEST BENGAL STATE UNIVERSITY
B.A./B.Sc. Honours 5th Semester Examination, 2022-23

ECOACORI12T-EconoMIcs (CC12)

Time Allotted: 2 Hours Full Marks: 50

The figures in the margin indicate full marks. ST T 97 M 7‘7577;7 e e 1
Candidates should answer in their own words AT e GIRIT I8 T AN T

and adhere to the word limit as practicable. ey FAE!
All symbols are of usual significance.

1. Answer any five questions from the following: 2x5=10

afeie @@« v Teg wies

(a) What do you mean by Inclusive Development?

TR SR Je00 O 5 @I 2
(b) Discuss how the Gender Development Index (GDI) can incorporate the gender
discrimination in development?

o Saaerpe SRt omfefee smreiior R woge 3 ¢
c) State four characteristics of underdevelopment.
/ SRR BIafo (18 Trard It
(d) Define poverty gap.
ARG T K e |

What is Hunger index?
: FE 53 I I 9

f) What do you mean by ‘Big push theory’ in economic development?
tAfoT Tafors ‘Rl ©F’ e [ QI 2

¢) What is multilateral agreement?

I3 §fe 9ICF e 2

) Explain the concept of Lorenz curve as a measure of inequality in income.

SIEICTE “NeF B Lorenz @R «1F911S i St

2. Answer any four questions from the following: 5%4 =20
S -GN DA et Taq wies

Can population pressure inevitably result in low level equilibrium trap in any
Less Developed Country?

@I RS (TR TPRYIE 517 5 [fbeeiRg FesEe ereies wiv 5 9 ¢
Y FEN
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(h{ Explain the concept of ‘Unequal Exchange’. ' & | h: A
T o — \% o )
(¢) Write a note on choice of techniques. R P 4
A T T @D Bt @l }
(d) Briefly discuss Globalization from historical perspective
SRS cormisith Rt e B P SR FCAA
(e) Write a short note on cumulative causation in economic development.
RAEE BRI TR PP dieeliba S @b Bimt e
@ /Distinguish between balanced growth and unbalanced growth.
TR B @R ST B W~ B 9

3. Answer any two questions from the following; 10x2 =20

RS Q- 715 oot Seq wies
/(a)' Critically discuss the Harris-Todaro model.
4 - (BTNl TeAfq fl SIS S Soifde Tl

(b) What are the limitations of Head Count ratio and Poverty gap ratio in the 4+6
measurement of poverty? How does Sen’s poverty measure avoid these short
comings? Explain.
wifE S M i W g Wiy T S a3 9fbq el & & ¢
I Wi A1 ~1=fS Rroi @2 el quite «ii@ 2 1 3@t
(c) “Workers base their migration decision on their expected income ”—Explain 6+4

this proposition with the help of a suitable model. Suggest some policy measures
to restrict such rural-urban migration in this context.

xRl O TBR) S fofere evar B azd 3@ - @3> SoRE Tt
TR IS FIY FAN cﬂiwmmaﬁzﬁﬁmﬁwww%ﬁﬁ
Ao s

(d) Discuss the World Bank approach to poverty eradication.

wifawy (6 REI0Ea 1S S st
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E‘*‘P ]:mhw we show the Scatter Plot and Fitted Line of the relation
h -par'aﬂpﬁn and life Expectancy at birth. Explain the diagram.

T jmmwmmﬁﬁsﬁm -7 W) FF 4@ Seatter
} Fitted Line's S (=10 e, e e <=l

Balaﬂbn between Life Expectancy at birth and GNP per capita
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In the following table relation between type of place of residence and caste ©f

tribe has been shown. Expisin the table,
e (GRe anmed T S0 em Caste 91 Tribe-99 140 bl

ot Bl i 2l
e e T =]
Topes ofReiars | Cote | Tt [ o cse [ o 00
_L_m“—-—___ 16630 —E-E?E...._. 3?4__ 70
Rural B8l 7821 2052 e
Total 52966 | 9626 | 2926 pRe |
x and X2 "

(b) (i) The following data are obtained from 10 observations on y.
{of v fefere y, x 4 v, 874 Sisn sl Aiedl (TR

_Z_,ng Y x =30 S x=40
Ty =88.2 > x=92 ¥l =163
3 yx =59 3y, =88 Y, =119
Estimate the regression of y on x; and x,.

yae x, &R x, "2 Regression estimate @l
Why is adjusted R useful in a regression model with multiple regressors?
Multiple Regressors sfers Regression Model €% (%578 Adjusted R 4

8

Socmfaret fa 2

(c) () From the sample of 10 observations the following results were obtained:
Y ¥ =1110 Y X, =1700 Y XY, =205500
3 X7 =322000 B )" =132100
with correlation co-efficient 7= 0.9758. But on rechecking this calculation it
was found that two pairs of observations were recorded as

(i1)

i 2 i AP X
90 120 insteadof 80 110
140 220 150 210

What will be the effect of this error on #? Obtain the correct r.

108 e @@ mEr e e el oF
Y ¥ =1110 > X, =1700 Y X ¥, =205500

Y X7 =322000 Y ¥? =132100
g2 755 ®eE = (.9758
mﬁmﬁﬂmmmiﬁcﬁa*ﬁﬁmﬁﬁmam

ST X

90 120 wmwmE 80 110

140 220 150 210

% G0 G 19 B ) e e o WO 02 WA e @

Tum (






(€) What is meant by double taxation of savings?
(d) Give an idea about *Balanced Budget Multiplier’.
“SIGFS ) AB-eew-am wrenfS e wm
®) Explain the ‘Ricardian view of government debt”.
FEIA W AT RIcsi el wieisal 3@ |
(f) What do you mean by inter-generation shifting of burden of public?
TR WI-SIT Wz 2fe Frs w0 7 @i 9
Mhat are the main sources of revenue of the Central Government and the State
Governments in Indian Federal System?

SO TEAF IO FEY IR < A6 Tt S ffos son
SIS L

3, Answer any fwo questions from the following;
fsferfe q-ce 76 2w Tag we:
9&0 Critically explain the ‘Ability to Pay’ approach to taxation.
T oI TR qPeBHa FCAGAIAE I |
(b) “An indirect tax imposes an excess burden compared to a direct tax of equal
yield™”. Do you agree with this view? Give reasons.
I AT AR AF wA AN c@rE 37 wefie @@t W wm a3
RS WX il 1% #2TS cArzel 70 9 ot Beran Horw 3fe wie |
(¢) “In an income differentiated society work effort will decrease when the
tax-structure is changed from proportional to progressive tax structure”. Is this
statement true? Answer with argument.
O wey §e ol e I Tefer w4 AranE Afaaee aeifefiE 37 2
G Tl T OIF W @O FIN WR I — qF TeE@A ¥z gfa & eme coire
T 2 (Mg T Ao Y@ wia |
(d) Write short notes on the following:

MQase theorem ('%ead Weight Loss of Taxation.
) (FTH-&7 S (i) T O “yo-oE we'q g

—

10x2 =20
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WEST BENGAL STATE UNIVERSITY
B.A./B.Sc. Honours 5th Semester Examination, 2021-22

ECOACORI11T-EcoNoMiIcS (CC11)

Time Allotted: 2 Hours Full Marks: 50
The figures in the margin indicate marks of question. &Nfee T 0Z TG QT ST e T
Candidates should answer in their own words AT e IR I TS AT N
and adhere to the word limit as practicable. Geq e 2691

All symbols are of usual significance.

1. Answer any five questions from the following: 2x5=10

fsERe @-@ieE 5T arte Ted nies

(a) Define Type I error.
Bizel [ @ifed kel wis )

(b) Explain the terms ‘statistic’ and ‘parameter’.
‘Statistic’ '8 ‘parameter’ 2Y{G T T

(¢) Define a random variable.
9 BETCRe TR TS |

(d) What is the notion of unbiasedness of an estimator?
(6 afFered feRerFerR ARl 6 ¢

(e) What is the first step in empirical economic analysis?
Sfowees Sdfes RTsea aew *meset & 9

(f) Define ‘confidence interval’.
o AR AR e wie |

(g) Distinguish between simple regression and multiple regression.
e feTeqe @ weld fareare ey AL & 9

(h) State the BLUE properties.
BLUE &fefer Srard

(1) What is standard error?
2o S FICF 0T 9

(j) What is perfect collinearity?
o)l SRERRFS! P A 9

2. Answer any four questions from the following: 5x4 =20
fasfeie @-ie orE eloas T nes
(a) What do you mean by Coefficient of Determination? Show that > = ESS/TSS .
TRIH AL FICE A 9 &N FEA @ > = ESS/TSS .
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(b) Show that the OLS slope coefficient estimator /3, is a linear function of the Y,
sample values.

A8 @ OLS I 7290 2lIFeTs f3,, ¥, TIAISNAA G0 Feita i Seerss |

(c) Explain the two-tailed test of hypothesis testing.
23] 2T 72oPRRRE 2T I i

(d) ‘In linear regression model, increasing the number of regressors by one will
lead to loss of degree of freedom by one’ — Do you agree?
‘a3 @RT 2o ToE AT AT @F I TR 9L 27 FHTeF WAl
GF 2 Me’ — TS WL T 9

(e) A normal population has a standard deviation of 10. A random sample of size
25 is taken which has a mean 50. Construct a 95% confidence interval estimate
of the population mean. [z ;,; =1.96]

G FOIRP INLF 7S [Rpyfed W 101 @b IO T ([e 2o I T
YT T 25 6 51C 50 | AN SITH 95% B I et fopefd vl
(f) Distinguish between ‘Null Hypothesis’ and ‘Alternative Hypothesis’.
) 25 ¢ 7RIS AT T A1 TN
(g) Briefly explain the AR(1) process.
FREFC? AR(1) *Mafeb I @i

(h) In a big city, 325 men out of 600 samples drawn were found to be smokers.
Does this information support the conclusion that majority of men in the city
are smokers?

G IO *ZE 600 G 96 TN 325 G FEAE GHAR AN (57T 92 L
(X 5 T@T A @ G = Rea SR 2J7 gl o

3. Answer any two questions from the following: 10x2 =20
fasfeie @-ie 76 ava Ted wiss

(a) (i) In a hypothetical data on consumption in relation to income for 30 5+5
families, the following results were obtained:

RSS, =377.17, df.=11
RSS, =1536.8, df.=11

If Fygs,,,, =2.28, examine whether there is heteroscedasticity or not.

30f6 ifFitee ST % (ol i dog v ffere FafERke e
s (91CRS

RSS, =377.17, df.=11
RSS, =1536.8, d.f.=11
I Foosain =2.28 =1, AAF S0 92 O heteroscedasticity TR 11

5011 2
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(b)

(c)

5011

(i) The estimated production function is

log X =—-3.938 + 1.451logL + 0.384logK
(0.237)  (0.083) (0.048)

R* =0.9946, p=0.559

Test whether autocorrelation error is present in the above equation or not.
(Given that k"=2 and n=39 for the 5% significance level d, =1.38).

@6 ARAAFE TeAW AT 25

log X =-3.938 + 1.451logL + 0.384logK
(0.237)  (0.083) (0.048)

R*=0.9946, p=0.559
A FE@ @S @ AN Feae AR aifesmibere men Wi k=2,
n=39, 5% Ol W& d, =1.38)
(i) Explain the notions of consistency and efficiency of a parameter. 3+3+4
(i) Explain why is random error term introduced in an econometric model.

(iii) ‘Durbin Watson Test statistic is not a very powerful test to detect the
presence of autocorrelation’ — Justify.

() 93 AT S € wHOR AN 1t FC! |
(i) @3 TFEETES ToE aferml seve T4 27 @& 9

(i) ‘Durbin Watson 325ifS e «iFrmt 43 =& «1Frwt a2 — Sfeba gade
b= e

From the annual observations from 1980 to 1994, the following regression 4+2+4
results were found where Y = Exchange rate of German mark to the US dollar

(GM/$) and X = ratio of the US consumer price index to the German

consumer price index; that is, X represents the relative prices in the two
countries:

Y, =6.682 — 4318X, r>=0.528
sc=(1.22)  (1.333)

(i) Interpret this regression. How would you interpret 7°?

(i) Does the negative value of X, make economic sense?

(i) Suppose we were to redefine X as the ratio of German CPI to the US CPI,
would that change the sign of X ? And why?

1980 (ATF 1994 *1F® sitex JifFF w2 (A Rl e w1 sieat itz @A
Y = German mark (XCF US dollar (GM/$) R =19, @k X = US (SI5-17 6%
(tF German (SI15R7Y 3555; e X 7fb (reei e wiws

Y, =6.682 — 4318X, r>=0.528
sc=(1.22)  (1.333)

3 Turn Over
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() FS7efba sresd 7cem ofi [Fei@ 12 -9 Sl i F963 9
(i) X, -9F AfeF N07 F @i selafos sies =i ¢

(ili) @A TP, X = German CPI (/(F US CPI Sg7te| (ICHcg X -93 B &
SRS 2T 9 (A 2

(d) Explain the concept of multicollinearity. Describe some of the remedial 4+6
measures for the problem of multicollinearity.
FeelifFFel ARl e @ IeeifFFTel PR ATRE FEFO SAR 30
N

N.B. : Students have to complete submission of their Answer Scripts through E-mail / Whatsapp
to their own respective colleges on the same day / date of examination within 1 hour
after end of exam. University / College authorities will not be held responsible for wrong
submission (at in proper address). Students are strongly advised not to submit multiple
copies of the same answer script.
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WEST BENGAL STATE UNIVERSITY
B.A./B.Sc. Honours 5th Semester Examination, 2021-22

ECOACORI12T-EcoNnoMmics (CC12)

Time Allotted: 2 Hours Full Marks: 50
The figures in the margin indicate full marks. aNfer T F0Z T IMo Q"Y/VW fac Fed1
Candidates should answer in their own words AT TS ST I AET XTI N
and adhere to the word limit as practicable. s R

All symbols are of usual significance.

I. Answer any five questions from the following: 2x5=10

fafeiie @-ieal #fipfs elvas Ted wiss

(a) Distinguish between sustainable development and participatory development.
(GFHE, TR '@ SRHZOETP ST AL (& |

(b) Distinguish between absolute poverty and relative poverty.
QTR 6 B RIfHCHd #M1<fw gl e

(c) What is Gini coefficient?
& e 7290 I 0T 2

(d) What is head count ratio?
TR Yo ST FIF 0 2

(e) What is low level equilibrium trap?
@R SRR T FIE A 9

(f) What are the limitations of Human Development Index?

TR Tz oA FAael 6 9

(g) What do you mean by Bretton Wood System?
‘&5 BT PIEEY Twce 6 (@Iean ¢

(h) What is human poverty index?

TR @) Ao I 0T 9

2. Answer any four questions from the following: 5x4 =20
fasfeiie @-cpiea 516 eivss T mies
(a) Explain the concept of inclusive development.
SEG T G AIFell I Al |

5061 1 Turn Over
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(b) “Per capita income may be used as starting point for classifying levels of
development” — Explain the statement.

TR WA @NRICR (e NLAfg SR a3 353 AR 91l F11 @cs M —
92 IS0 T T

(c) Discuss different obstructions to development.
TG <A1 e SICEH= S|
(d) Write a note on income inequality.

IR AN T 96 DIt @&l |

() Do you think that a critical minimum effort in the form of huge dose of
investment is inevitable to free the economy from this trap?

of & W F@ @ wdifere @2 T @A I Fa7 & [egs s [fvcier e
@B T AIE 2 e 9

(f) “Disguised unemployment can be used as saving potential” — Explain this
statement.

o &

“HLER TSI 2R eivey @AY 950 200 AR — Ofe o i FEt

3. Answer any two questions from the following: 10x2 =20
fasfeie - 7 evs Teq wies

(a) Do you agree with the argument that in order to initiate economic growth in a
less developed country a “big push” is necessary? Give reasons for your answer.

SR (M0 SATeS Jfad G e A eeh [ eriean ¢ (o TerE
FACE Flae wefia )

(b) Discuss different measures of inequality.

R ffeq ifaiet R Sicesat St

(c) What do you mean by Multilateral Agreement? What are the economic and
political issues behind this agreement?

oIS 5 I910e fF @IRN ¢ @2 pies P widtafes @ Artafos Srmef & & 9

(d) Write a short note on investment criteria.

RS e s Toig @t Bt @Teal

N.B. : Students have to complete submission of their Answer Scripts through E-mail / Whatsapp
to their own respective colleges on the same day / date of examination within 1 hour after
end of exam. University / College authorities will not be held responsible for wrong
submission (at in proper address). Students are strongly advised not to submit multiple
copies of the same answer script.
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WEST BENGAL STATE UNIVERSITY
B.A/B.Sc. Honours 5th Semester Examination, 2021-22

ECOADSEO1T-EcoNnomics (DSE1/2)

APPLIED ECONOMETRICS
Time Allotted: 2 Hours Full Marks: 50
The figures in the margin indicate full marks. aNfer T F0Z T YMo Q"Y/VW fac Fed1
Candidates should answer in their own words AR e ©IRNF INFTET TN T
and adhere to the word limit as practicable. s R

All symbols are of usual significance.

1. Answer any five questions from the following: 2x5=10

e @-ciet 256 2via Ted wies

(a) ‘Sample is a representative part of a population.” — Explain.
TR AT G0 @S ffHgaeTas o= 1"~ Tl
(b) Draw a pie chart.

@36 78 o orFe Al
Sector Expenditure (in thousand rupees)
(e 4 (000 TIF)
Agriculture (Ff) 48.5
Industry (™) 30.7
Irrigation and power (S5 @ *If&) 11.5
Transport (7832 15.4
Miscellaneous  (STeI«T) 6.4
(¢) What are the different measures of Mean?
sces fAfen sifasiefe F o
(d) What do you mean by descriptive statistics of a data set?
AR I~k Ie F@T0s & @I 9
(¢) What do you mean by ‘partial regression coefficient’?
HRRE fToael weiE’ w00 [ @I

(f) What will be the expected value of the stochastic error term in a population
regression equation?

TaF freqd ANFHe-9F Ty AT 55795-97 (stochastic error term) SS(2S
A IO (T ?

(g) What do you mean by first order autoregressive disturbances?
/20 @ -7 autoregressive disturbances IETCS & @I 9
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(h) State two consequences of the problem of heteroskedasticity on the least squares’
estimators.
ey 39 mfere e “AfRMI#F-99 8519 heteroskedasticity PTR o @@
SCeTH F |

2. Answer any four questions from the following:
T @-ieal 5o eie Ted mies

(a) Descriptive statistics of variables from a data set of cars is given below. Here the
variables are price, mpg (mileage), rep78 (repair in 1978), headroom, trunk,
weight, length, turn, displacement, gear ratio and foreign. Explain the descriptive

statistics.

e e if%e SR SESh v e AReRye menl 2@ saaifH e =
price, mpg (mileage), rep78 (repair in 1978), headroom, trunk, weight, length,

turn, displacement, gear ratio 8 foreign | ?IW AR AN 71

Variable Cbs Mean Std. Dev. Min Max
price 74 6165.257 2949.496 3291 15906
mpg 74 21.2973 5.785503 12 41
rep78 69 3.405797 9899323 1

headroom 74 2.993243 .8459948 1.5
trunk 74 13.75676 4.277404 5 23

weight 74 3019.459 777.1936 1760 4840
length 74 187.9324 22.26634 142 233
turn 74 39.64865 4.399354 31 51
displacement 74 197.2973 91.83722 79 425
gear_ratio 74 3.014865 4562871 2.19 3.89
foreign 74 2972973 4601885 0 1

(b) Explain why standard deviation is regarded as superior to other measures of
dispersion.

fagfon wifamioie Rea e Ryfers @ e TeFE e 541 2 2 I Fel|

(c) Calculate the simple correlation coefficient.

e 72oife wars [ et
X | 91 | 97 | 108 | 121 | 67 | 124 | 51 | 73 | 111 | 57
Y | 71 | 75 | 69 | 97 | 70 | 91 | 39 | 61 | 80 | 47

(d) How will you define a dummy variable? Explain two purposes where dummy
explanatory variables can be used to design a regression equation.

Dummy &R el Qi I 40 ¢ 96 Srizgel wie @A dummy 56F 924 I
frege e 915+ T4 2R

(e) Suppose researchers want to know if automobiles, on average, get 20 miles per
gallon. They collect a sample of 74 cars and conduct one sample t-test to
determine if the true average is 20 or not. Following is the result of that one
sample t-test. Explain the result.

5112
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A I, SN M @S e (ot FfS Ew bt el wieies 2og 1 1w otere )
bR 51G L 02 el (RF &y, il 741 97 @36 T ka2 FAE @R @I @) -
T t- test FAET | 70F &G t- test G FeNFT0 I I i

Oone-sample t todl

Variable s Hean Std. Err. Std. Dew. [95% Conf. Interval)
g 74 212973 6715511  5.785583 19,9565  22.63769
rean = nean|mpg) t= 1.9209
Ho: mean = M degrees of Trosdor - LE
Ha: mean <« 29 Ha! mean |« 29 Ha: m=an » M
Pr(T <« t) =« 0.9712 Pr(iT| » 1E]) « 9.05T% Pri? » t) « o288
(f) Discuss Likelihood ratio test for the detection of heteroskedasticity. 5

Heteroskedasticity -3 8% faea #5219 &7 Likelihood ratio %Rt SCEs= S

3. Answer any two questions from the following: 10x2 =20
fasfeie - 7 eve Teq wies
(a) (1) Suppose, we are interested to know whether happiness, exercise, sleep, job- 5

satisfaction and pets are correlated to each other. For this purpose, we have
calculated pairwise Spearman’s correlation coefficients of these variables. The
result is furnished below. Explain the result.

31 P, S| S0 Wiel2) happiness, exercise, sleep, job-satisfaction @3} pets €%
fRaRafer siasicam s eI | (72 i, SISAl GTed g pairwise Spearman’s
correlation coefficient e 5= faTwa eme Ferat 1A T

.+ pWERTT
Happin~s Exercise Sleep Jobsat-n Pets
Happiness 1.0000
Exercise 9.6058 1.0000
Sleep =8.1952 -0.4974 1.0000
Jobantisfa~n 0.8601 9.7312 B.0248 1.0009
Pats 0.6588 0.7897 -0.4882 0.5847 1.0000
(i1) The following diagram shows the scatter plot and fitted line between price and length 5

of different cars. Explain the diagram.
[ awe fogfore (e aifta wiw «3g A4 scatter plot and fitted line (MR RECRI

foafbes i el
E ] L]
el ]
1] - "
L]
- -
g 1 L] - -
8 L] ol
£ a - ~ _,—o—'-"__'-__'_'
8| s SRS pAt
omdogFr L X
o 4
140 180 180 200 220 240
Length
I'l Price Fitted values
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(b) (1)

(ii)

Explain least squares method of linear curve fitting. Il =

G FRNF! ST~ D I At B =yt T [\

In a batch of 10 children, the marks obtained by a dull boy is 25 below the average'\l‘\.‘x\‘

marks of the other children. Show that the standard deviation of marks of all the
children is at least 7.5. If this standard deviation is actually 12, find what the
standard deviation will be when the dull boy is left out.

10 & BIEF @36 @NTe @ @I (@9 2N T98 Tl Daerd el T9634 51
(/G 25 | (S @ @2 @R 7 [le IA2ICF 7.51 M 92 @ TR 7w [yfe
SCE 12 2, OF@ @IS —Iafoes am fcst @iz s Ryt e e

(c) Following linear regression result shows the relationship between life expectancy
at birth with GNP per capita and population growth rate. Explain the result.

fffie aRe Meae-ua Teneaitee ¢RI 2R @ SeId T F8I) SgHe (life
expectancy at birth) W=ifg GSIT ®W (GNP per capita ) 9% &R J@s 2
(population growth rate) ~43 €77 1S3 FCF | FTEAFE0 1A FCEM

(d) ()

(ii)

Source 55 df M5 Number of obs = 63
F{2, 6@ = 36.20

Model T77.530873 2 3B8B.765436 Prob = F = B.0008
Residual 644 .405635 6@ 18.7408939 R-squared = B.5468
Adj R-sguared = 8.5317

Total 1421.93651 62 22.9344598 Root HSE = 3.2772
lexp Coef. Std. Err. t P=]t| [95% Conf. Interval]
gnppc .B@ez293  .ooepals 6.99 p.oee .ea2a9az .BB037E9
popgrowth —.9833919 485387 -2.03 0.047 -1.95431 -.0124734
_cons T8.67366  .BOT1596 B7.56 @0.o00 69.8591 72.28822

Explain the utility of econometric software packages (like STATA, EViews
or SPSS) for statistical analysis of data sets.

Aoy wAfeRAE KRR G econometric TP AN GoICAlfaS!
DD FCA |

Suppose you would like to conduct a research project on the “relation
between obesity among the young generation and their lifestyle, food habits
and excessive uses of information technology”. Prepare a good
questionnaire to conduct a sample survey.

g F, AN @ NN FACO e T [ T O AT (=
GTRAMR W) gerel Jfad T RO St GIRTAIg], Sitnd AT @R ©2)
eRffes Sioiie 72 Foo! Wil |-a2 KA T@! 7= #AfRbleT T4 &) 93 (o
RS el 515 T

N.B. : Students have to complete submission of their Answer Scripts through E-mail / Whatsapp to
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their own respective colleges on the same day / date of examination within 1 hour after end
of exam. University / College authorities will not be held responsible for wrong submission
(at in proper address). Students are strongly advised not to submit multiple copies of the
same answer script.
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T PRI

WEST BENGAL STATE UNIVERSITY
B.A./B.Sc. Honours 5th Semester Examination, 2021-22

ECOADSE02T-EcoNoMICS (DSE1/2)

Time Allotted: 2 Hours Full Marks: 50
The figures in the margin indicate marks of question. &Nfee T 0Z TG QT ST e T
Candidates should answer in their own words AT e CIRNT TRl FE&] *FNNT I
and adhere to the word limit as practicable. Geq e 291
I. Answer any five questions from the following: 2x5=10
feafere @-iea #5fb elcea Tex wies

(a) State the difference between horizontal equity and vertical equity in income tax.
SRFCER (G ST ol G TFF 0l 21y Kge S
(b) What is Laffer curve?
TP R T 9
(c) What is deficit financing?
qi5fe T3 efenfo i ¢
(d) What is progressive income tax?
2l5if et SRR FIE ¢ 2
(e) What is the problem of free rider?
el ©ro At el < ¢

(f) Examine the economic grounds of government expenditure on subsidising
primary health care in a market economy.

JEiRfefes TdNifore airfie Trgice R g amiti SIdnfes & SNEDl
N

(g) Define public debt.
TSI AT IR wie

(h) What is meant by market failure?
e I7ER Il @I [ @R 2

2. Answer any four questions from the following: 5x4 =20

fsEke @@ oIafe are Ted nies

(a) Explain the concept of Fiscal and Revenue deficit in a budget.

s fFieT Qibie @ Are Qithied gige I St

(b) What are the characteristics of public goods? How does it differ from that of
private good?

=R wE@R @Eel T 7 o el el @ el e wEm 2
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(c) Discuss briefly the solution proposed by Lindahl regarding the optimum
provision of public good.

TR T S TR R FCiETd 2R T Seetoal |

(d) Examine briefly the role of public debt to finance the government expenditure.
Taeifd 78 e ooy SR et IR SRR FREFCS S S

(e) On what ground would you justify benefit approach to taxation?
For fefere HRug fofers Faemitn Mo wwds i Tw ¢

(f) Distinguish between internal and external debt.
SrerEsel ¢ AT W T AL 7 M

3. Answer any two questions from the following: 10x2 =20
fasfeie @-ie 76 avea Ted wies

(a) “The equal sacrifice principle implies progressive taxation” — Do you agree with
this view?
T SpeeifS @nfoRier s o F” - oMl [ @ ere ¢

(b) Derive the condition of Pareto optimality of resources in the presence of public
good.

T GCa SoARRSre i e il I6cae el Niad s

(c) Explain with the help of a suitable model that intergeneration shifting of public
debt is not meaningful at all.

@3 SO ACER AR @Ae @ FRPR A @RI S erer AfRpleras et
S S 7
(d) Write short notes on the following:
e Bl 1eale
(1) Fiscal federalism in India
SIS AT (N1eF JE
(i) Coase Theorem.
RPIG-G3 TN |

N.B. : Students have to complete submission of their Answer Scripts through E-mail / Whatsapp
to their own respective colleges on the same day / date of examination within 1 hour after
end of exam. University / College authorities will not be held responsible for wrong
submission (at in proper address). Students are strongly advised not to submit multiple
copies of the same answer script.
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T PRI

WEST BENGAL STATE UNIVERSITY
B.A./B.Sc. Honours 5th Semester Examination, 2020, held in 2021

ECOACORI11T-EcoNoMiIcS (CC11)

INTRODUCTORY ECONOMETRICS

Time Allotted: 2 Hours Full Marks: 50
The figures in the margin indicate marks of question. &Nfee T 0Z TG LT T e T
Candidates should answer in their own words AT e IR I TS TN N
and adhere to the word limit as practicable. Geq e 291

All symbols are of usual significance.

I. Answer any five questions from the following: 2x5=10

fsERe @-@ieE 5T are Sed nies

(a) Explain the term ‘Standard Error’ of a statistic.
ANF A’ SWIF P FCEM

(b) Define hypothesis.
PSS &R MG |

(c) Define ‘Type I and Type II errors’.
“Type 1 € Type II @f&’-7 3Kl wiS |
(d) State the Ordinary Least Squares (OLS) estimation criterion.
Az SR 9 o1@fe (OLS) LFeR @ Meweef @t
(e) Explain the term ‘Degree of Freedom’.
“FEITOR @ AWCR P I
(f) Define ‘power of a test’.
‘Power of a test’-a< e W€ |
(g) What are the effects of an autocorrelated error on OLS estimators?
OLS 2ieeTdd ¢o7 TRfEeid wiie aifeRmicr eer s Fel |

(h) What is the basis of Goldfeld and Quandt Test in determining heteroscedasticity?
Heteroscedasticity fadiatet Goldfeld and Quandt Test-<@3 fofe & ¢
(1) State with reason whether the following are dummy variables or not:
Presence of college education and Racial discrimination
faafeiiie REgele Dummy 566 5 FizerT Jeens
FECE BT ToifEfe @ wifears taaw
(j) Define a dichotomas variable.
TR HoTcre TRl wie |
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2. Answer any four questions from the following: 5x4=20

foafere @-I 5Ef6 2t Tes wies

(a) The choice of the level of significance depends on the purpose of hypothesis
testing. — Justify the statement.
iy TR ew eiTe eFE AArwR SrraedE 8ok fen @ — e amiR
M

(b) The mean IQ for a group of 25 children is 104.81, the standard deviation is 17.255.
Test whether the observed mean is significantly greater than 100.

( toA05,24) =1.71 1, 1.01,24 = 2492)

25 & e 9% 1Q 104.81,7F RPfe 17.2551 AGIR F@! Toier oG 100 (U AT
ﬂ ﬁWTI ( l‘0405,24) =1.711, 1.01,24 = 2492)

(c) In a 2 variable Classical Linear Regression Model, show that the least square
estimates of the parameters are unbiased.

g7 fapet ol @RT eorRfe o e @ @ 3 smfere ald aRFeeef
2FANG¥{eT] |
(d) The DW test for autocorrelation is not applicable in case of heteroscedastic error.

— Justify the statement.

TRfETeI el DW 2% heteroscedastic i€ CF0g &@ey T — Of&H
RIREEI&I

(e) Least square techniques when applied to economic time series data usually give
biased estimates because many economic time series data are autocorrelated.
— Justify the statement.

W 3 AafsRie AR AR CHg 2@ F1 23 ©f FHAGYE AFEF & (7,
I Sl wdEfeTEE A qARE wriErer e w — Efeh amE
AN

(f) Inthe model y = Bx, + B,x, +u, the parameter estimates are ,Bl =1, ,Bz =1. Ifone
observation is dropped, the new values are 3, =—1/2, f3, =3. State with reason
whether multicollinearity exists between two variables or not.
y=Lfx, + Box, +u TEE AT NN @ B =1, f,=1.1 @I ~Ew Im
et g W =@ B =—1/2, B, =31 6 tena Wy JeRivewel wig /Al g
N

(g) A production function is specified as
Y, = o+ Bixy + Byxy; +u u; ~IN(0, o)

The following data are obtained from a sample of size n=23:

X =10 X, =5 y=12
S, =12 S, =8 S, =12
S, =10 S,, =8 S, =10

Compute ¢, ,Bl, ,Bz as well as standard errors of ,Bl and ,Bz.
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G0 T TFF GN
Y=o+ Bix; + Byxy +u, u; ~IN(0, 0'2)

T RA 5 =23 e [WElere oLy #hew A

% =10 X,=5 y=12
S, =12 S, =8 S,, =12
S, =10 S, =8 S, =10

&, B, B,-a3 a= Fet @ @k, f, -93 wwreaits el st

3. Answer any two questions from the following: 10x2=20
fasfeie @-ie 76 avea Ted wiss
(a) (i) Make a distinction between deterministic and stochastic relationships. 4+3+3

(i) What are the sources of the error term?
(i) The estimated equation of a function, based on 12 observations, is:

Y =10+0.90x
You are given the following sample moments:
67 =0.01 X =200 S_. =4000

Calculate the predictor of Y for x =250 and obtain a 95% confidence interval
for it. (¢ =2.228 with 10 deg of freedom).

() e e Tearei Fi W ANy FEl
() =fesitrR Sl @
(iii) 12 5 ~fae-a3 fofers aig a3t S sfimiepe Thwae zae

Y =10+0.90x
fferis =i arrrafer (e ze:
67 =0.01 X =200 S_. = 4000

x=250 A V-A9 FJA«FO TG @R T @ @F T 95% confidence
interval T/ @ (1 =2.228, 10 F&woR @l 7R)

(b) (i) Heteroscedasticity in the error leads to biased OLS estimators of the 5+5
regression coefficient and its standard error. — Justify the statement.

(i) Describe some of the remedial measures for the problem of multicollinearity.

(i) @9 Heteroscedasticity Q¥ OLS &lFeided @eorigfe =5 ¢ 7o gife
FHoNeYE T — Sfeis [R5 I
(i) TfRfteme! 7TPTE eAfoFIET TKSET ST I

(c) Consider the following estimated 2 variable CLRM: 3+3+4

Y, = constant +0.5X; +e,

where n=22, X =10, Y =25, ) X} =2201, D ¥’ =4951.
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(i)  Obtain the estimated regression coefficient when X is regressed on Y.

(i) Obtain the unbiased estimate of the error variance, S, when Y is regressed
on X.

(i) Test the suggestion that (a) Y is proportionally dependent on X and (b) Y is
positively dependent on X, both at 5% level of significance.

[ S S

(RIS 12 befp-RME STage Wwel (el SicRs
Y, = &% +0.5X, +e,

(@ICT n=22, X =10, ¥ =25, > X =2201, > ¥?=4951.

() IMXE Y97 ¢7 eojigle T 2, [ SgFFe 2Aefige 729-93 Aq F© 217
(i) Y @ X 93 897 AGfJG T a% RBIER *rHoiodle AlFeTs-93 A« T 2(J ?
(i) 5% Oty Sete fasferfie el i s

(F) Y SlgenfeFel X-a3 eve faoaie,
(¥) Y ST X-a3 6o fqeaie

(d) (i) If the variances of independent and unbiased estimators 7;, 7, and T;of

parameter @ are in the ratio 2:3:5, which of the following estimators would
you prefer most?
Qh+T,+Ty) (L+20,+T) (G+T,+2T,)
4 ’ 4 ’ 4
(i) Explain ‘two tail test” of hypothesis testing.

(i) Define binary variable with suitable example.
() TRIEGR g-93 foa FEG ¢ ool adFes 7), T, IR T, -9 (enwefe
2:3:5 A A [OA6 FeTs FNEL T (T 9N FCEE 71ew T 9

Ch+0L,+7%) (L+21,+1) (I +7,+27)
4 ’ 4 ’ 4
(i) 2% [T CF0g 12 7[pe-RT +Tw 30 @t
(i) TN HAFA SRIRIIHZ R 7€ |

(e) (i) Explain the term ‘dummy variable trap’.

(i) Show that the disturbance term is heteroscedastic in linear probability model.

Q) ©ifl vere win welb i IR

(i) (A8 (T FIFERF TSI -« Alf8sws Heteroscedastic A

N.B. : Students have to complete submission of their Answer Scripts through E-mail / Whatsapp to
their own respective colleges on the same day / date of examination within 1 hour after end
of exam. University / College authorities will not be held responsible for wrong submission
(at in proper address). Students are strongly advised not to submit multiple copies of the
same answer Script.
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WEST BENGAL STATE UNIVERSITY
B.A/B.Sc. Honours 5th Semester Examination, 2020, held in 2021

ECOACORI12T-EcoNnoMmics (CC12)

Time Allotted: 2 Hours Full Marks: 50
The figures in the margin indicate full marks. aNfer T F0Z T IMo Q"Y/VW fac T
Candidates should answer in their own words AT TS ST I AET XTI N
and adhere to the word limit as practicable. s R

All symbols are of usual significance.

I. Answer any five questions from the following: 2x5=10
T @-Cieat #fpfe elvex Tex wiss
(a) Define sustainable development.
G2 TRICTA R WS |
(b) What is unbalanced growth?
CRMREE i FICE 0T 9

(c) What is poverty line?
IR G FICF T 9

(d) What is hunger index?
I PP FICP 0T 2

(e) What is multilateral agreement?
A §fe I 01 9

(f) What is Gender Development Index?
o e 55 3

(g) What is Lorenz curve?
wIeaE el 6 9

(h) What do you mean by vicious circle of poverty?

wificars M2 FeTce 1 QNG 9

2. Answer any four questions from the following: 5x4 =20
fasfrie - e eloss Teg nies
(a) Explain the concept of cumulative causation.

T HReGFAER 4iFants I T
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(b) Write a note on Bretton Woods Agreement.
&5 B b e =i B et

(c) Why is ‘Big-Push’ needed in a less developed country?
O Frarme ILINOTS (S 4IF1T AFE T & 9

(d) Explain the characteristics of underdevelopment.
SRR ARy e et i i
(e) Explain the concept of Human Poverty Index.
= wifd@y A =eliB i e
(f) How the balanced growth strategies differ from unbalanced growth strategies.

[ T (FIHICETR AL ST Sae] (e 21 & ¢

3. Answer any two questions from the following: 10x2 =20
fasfeie - 7 eve Teq wies
(a) What is economic development with unlimited supply of labour? In this context, 3+7

discuss Lewis model of development.

SEAe A @A I s R st & @RIE 9 @2 2P 52 Seeafs i
&l

(b) Discuss the conflict between employment and surplus generation in the process
of choice of techniques in less developed countries.

Tzl (ree] Teolive (FTIE BC elfer FRER @R B9 e Wi [ey
I A BRI |

(c) Explain the concept of ‘Human Development Index’ and indicate why it is a
qualitatively better measure of economic development than per capita income.

TR TR A QRN A IR @R @ @b wfor TraeT oo ZE
Mg NE Gl @eloieeiE Gaoes ©f fomt Sl

(d) What is Globalization? Discuss the impact of Globalization on world income 4+6
inequality.

T FICE 05 9 O R &7 [0 2] SETha S|

N.B. : Students have to complete submission of their Answer Scripts through E-mail / Whatsapp
to their own respective colleges on the same day / date of examination within 1 hour after
end of exam. University / College authorities will not be held responsible for wrong
submission (at in proper address). Students are strongly advised not to submit multiple
copies of the same answer script.

X

5061



CBCS/B.A./B.Sc./Hons./Sth Sem./ECOADSE01T/2020, held in 2021

st T L et

WEST BENGAL STATE UNIVERSITY
B.A/B.Sc. Honours 5th Semester Examination, 2020, held in 2021

ECOADSEO1T-EconoMmics (DSE1/2)

APPLIED ECONOMETRICS
Time Allotted: 2 Hours Full Marks: 50
The figures in the margin indicate full marks. aNfer T F0Z FIMo Q"Y/VW fac T
Candidates should answer in their own words AR e ©IRNF INFTET TN T
and adhere to the word limit as practicable. s R

All symbols are of usual significance.

I. Answer any five questions from the following: 2x5=10

fafeiie @-ieat #fipfs elvas Ted wies
(a) What do you mean by pretesting of a questionnaire?
o epiafer ei- 1R azel 10 i et ¢
(b) What is a Pie chart?
7@ foq iC 31 2
(c) Mention two secondary data sources of economic indicators in India.
oices SLes el @- @ g @ 2 s g S @

(d) For a moderately asymmetrical distribution mean and median are respectively
25.6 and 26.1 inches. Find mode.

@6 2T S WEE-a3 GFeg, 9T W 26 25.6 36 @R TGNE W = 26.1
36 | A T+ T T

(e) What do you mean by descriptive statistics?
AT 2RI 670 [ @I 9
(f) What are Random numbers?

Random numbers 357® & @I 9

(g) What do you mean by multicollinearity in linear regression?

TS e multicollinearity J¢10® & @9

(h) What is dummy variable trap?
Dummy variable trap I qCsT ¢
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2. Answer any four questions from the following:
fasfeiie @-cpiea 516 eivss Tes mes

(a) The following bar diagram represents the regional temperature of United States
in January and July. In the diagram N.E. means North East and N. Central means
North Central. Explain the bar diagram.
foe wrRf%e 17 forg WF T TeaEs wEfa 8 gaiE NeR el Siemig! S
31 2R | A7 org Sfefie NLE. it $@3-5F @R N. Central NIt $&3 547 | A

foafs e FCt |
Average July and January temperaturas
by rogions of the United States
i 4

321

:

Il

!_— y __ Jaruary |
(b) Fit a straight line to the following data by the Method of Least Squares. 5
ferfaifae qife e el #ifew 39f *ffste (Method of Least Squares) @&
TR ANFIe! el ezt
X 2 4 6 8 10 12 14

Y 10 14 15 16 15 17 18

(c) Suppose that we have a population of 85 college students and want to form a 5
simple random sample of size 11 to survey about some issues on campus.
Construct your random sample of size 11 using the following random number
table.

£ T AN R 85 & FETGRIGT G0 TEF WRI G- FEF (AF FEee
A R AT &) 11 & FETSRIE G0 1 (simple random sample) (o
FA00 A W08 @we random number table (RCF @AM G FETERICET T
(simple random sample) &&S FCA

Table of Random Numbers

36518 26777 8%11€ 05542 29705 83775 21564 BLE3% 27973 €2413 B5652 62817 57481
46132 81380 75635 19428 REO4E OB747 20092 12615 35046 67753 §9630 10383 1
11841 T73IET 40751 97402 27565 90184 02338 35318 54536 14641 95525 G631 BTIE4
B4180 53753 £4553 51472 E5358 23701 75230 47200 78176 B5248 S058% 74567 226113
78435 37586 07015 58725 76703 16224 57661 75507 06611 26501 53385 2725 E815E
418553 94158 37182 £1345 BAAST 53204 86721 55613 £7454 17252 54457 89520

1301% 07274 51088 93125 40386 51731 44254 E66E5 T2E3S 01270 42523 45323 e3481

BZ448 72430 29041 55208 BS526€ 33978 TOS58 E0017 39713 O00e0E 17856 19024 15819

(d) Explain the assumptions regarding error term of Classical Linear Regression
Model (CLRM).

oI SEERS e TS (Classical Linear Regression Model) @if® 3t error
term FHICE (X ST ST ©f 10 S
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(e)

&)

(a)

(b)

5112

Explain Goldfeld-Quandt test for heteroskedasticity.
Heteroskedasticity 79(fFS Goldfeld-Quandt test I FCI |

Using any one of the software packages SPSS/ STATA/ EVIEWS how will you
calculate descriptive statistics of a distribution? Mention only the steps in your
own words for the answer.

SPSS/ STATA/ EVIEWS-&3 @-(FI(al GF (6 FFOEIE 2Iiee T2 T el
@it facicT 3fares sferae 6T 39 ¢ Term o o @wemg detef
TCEd I

Answer any two questions from the following:
fasfeie - 7 evs Teq wies

Suppose you would like to conduct a sample survey on the basis of the
hypothesis that female workers get lower wage than male workers because
female workers have less general education, less technical education, less
experience than male workers. Women from backward caste, religious minority
get even lower wage compared to other women. On the basis of these
hypotheses, prepare a questionnaire for your survey.

g1 e, O 7FR ¢ e A gk KEw et SR fofers aait Tt
FIAT] TACO BIS | G SN FACR] (A 2J5e Aeera Qereliy Wieet! @fimai g w9 o
el 277 HNBPR GA Wiz #iwal I AR K oy, 9 agfents #E o
3R F ool 7R 23 | PIfRE- 1ol sFemiy @R TR 4 M wie @il
S Sl Wf2eT AR Qe SR T AGH AR | G2 e fefere @i
FAFFI Gy G0 2SN 2GS I |

The following linear regression result shows the relationship between hourly
wage rate of some workers with different variables like grade (current grade
completed), collgrad (college graduate), industry, occupation, union (union
membership),tti_exp (total work experience) and tenure (job tenure in years).
Explain the result.

fmfefie weeafiis fead-ua Taratee ofs 907 aig Tgfiia wex [fen vemifig
TR @A 2R, @ 25 grade (IS 723 41 grade), collgrad (FET&
aJIeRG), industry (GFd), occupation (FIETH &FIF), union (FRAGCTA FAHAW),
tti_exp (GIG FI(EH WTEsO), W3R tenure (92 HIFHACS F© I2F FIG FCACR) | T

I R
Linear regression Husber of abs = 1,849
F[7, 1841) = 130.05
Prob = F = Q.0000
R-sguared = 8.3311
Root MSE = 3.4195
Robust
wage Coef. Std. Err. t P=|t| |95% Conf. Intervall
grade 4876175 848373 9.8 @.000 3907845 5844505
collgrad 1.509963 352278 4,29 .00 B190568 2.20087
industry =. 1081554 -82736z8 =3.95 o.000 =-. 1618209 =. 05443
accupation =, 2535218 .8238394 -10.63  @.000 -, 3802768 -, 20ETEET
union 1.254875 2021686 6.28 @.000 857571 1.658579
ttl_exp 1944965 8227993 E.72 @.000 1587619 .238231
tenure B561235 -B204265 .75 0.006 016062 096185
cons =.3099134 6342255 =0.49 R0.625 =1.55379 . 9339636
3

10x2 =20
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callgrad .00 8.333758
ttl_exp 1.60 B8.625638
tenure 1.55 B.643520
industry 1.13 8.887979
accupation 1.12 0. BE9TER
union 1.06 0. e45949

Mean WIF 1.78

Variable VIF 1/VIF

grade .02 8.330867

(¢) (1) Find Spearman's Rank Correlation Coefficient from the following data set.

{0 ewe A SR RAGT Spearman's Rank Correlation Coefficient e St

Students (Roll number) 1 2 3 4 5 6 7 8 9

Marks in English 45 | 60 | 32 | 45 | 32 | 32 | 58 | 56 | 47

Marks in Mathematics 51 51 38 154 | 54 | 38 | 62 | 58 | 38

(i1) Discuss Durbin-Watson test in the context of detection of autocorrelation.

(d) (©)

(ii)

N.B.

Autocorrelation &S Durbin-Watson test 15 FCl |
For a bivariate data set, it is given that:
Mean of x, (x)=70, Meanof y, (¥)=100,

n

2 (x5, —%)7 =2250, > (y,-¥)=6300, n=12,
i=1

i=1

z (x; —=X)(y; —¥) =-3550. Calculate the coefficient of determination R*.

i=1
O 0 e A SR FESh ey W eve 2=
X BECFA G (X) =70, y B4 9 (7) =100,

D (x5, —%)7 =2250, D (y,-3)=6300, n=12,
i=1 i=1

Z(xi —X)(y, —y) =—-3550 @2 M S AR coefficient of determination

i=1

R* s st

Distinguish between coefficient of determination R? and adjusted

coefficient of determination, R*.

Coefficient of determination R* @ adjusted coefficient of determination,
R -q3 ey 24y foefay e

: Students have to complete submission of their Answer Scripts through E-mail / Whatsapp
to their own respective colleges on the same day / date of examination within 1 hour after
end of exam. University / College authorities will not be held responsible for wrong
submission (at in proper address). Students are strongly advised not to submit multiple
copies of the same answer script.
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ECOADSE02T-EcoNoMICS (DSE1/2)

Time Allotted: 2 Hours Full Marks: 50
The figures in the margin indicate marks of question. &Nfee T 0Z TG QT ST e T
Candidates should answer in their own words AT e CIRNT TRl FE&] *FNNT I
and adhere to the word limit as practicable. Geq e 291
I. Answer any five questions from the following: 2x5=10
feafere @-iea #5fb eltea Tex wies

(a) Examine the economic grounds of economic expenditure on Indian Railway in a
market economy.

e fofes TLARST IS SR @G i RINEIR I HEwa Tl

(b) State the alternative arrangements for financing public expenditure.
TR T @7 L B o [Rew Jazel [ige Fa@

(c) Define public debt.
TR A TSR W |

(d) State the difference between horizontal equity and vertical equity in income tax.
SRFCER (I ST el @ TFrF o 21w k3o Tl

(e) What is progressive income tax?
2l5if et SRR FIE ¢ 2

(f) What is meant by ‘merit good’?
‘IfH% w1y F@Ce F @[T 9

(g) What is meant by ‘market failure’?
AR R JL @0 F @RI 9

(h) What is Direct tax? Give two examples.
AOTF 9 I ACT 9 Y6 TR Wie |

2. Answer any four questions from the following: 5x4 =20
s @-ceie 5Efe e Ted mies

(a) Discuss the main characteristic features of public good.

TP GEIR A4 Qg ScEna St

(b) What is ‘Laffer curve’? Explain in brief.
TP @A [ 9 FEFwCo! O [ RN

5162 1 Turn Over



CBCS/B.A./B.Sc./Hons./Sth Sem./ECOADSE02T/2020, held in 2021

(c) Discuss briefly the solution proposed by Lindahl regarding the optimal provision
of public good.
TR T g A S TR CFG FTSiteT ewife e FREHCo SEna!
I

(d) Explain the concept of ‘free rider problem’.
‘et erorE AEr Al wRERG i e

(e) Explain the concept of fiscal and revenue deficit in a budget.

AqCECs Revreiet 9i5fe <k @SS wibfon diee i Sl

(f) Is there any difference between the burden of an internal debt and that of an
external debt?

HIeFEAN Ao G (MR ATOIE W& (@Il 214y =iz [ 9

3. Answer any two questions from the following: 10x2 =20
fasfeie @-ie 76 avea Teq wies
(a) How would you derive an optimum solution for the allocation of resources
between private good and public good?

@RI € T G S FIET P THAMT I MY TN [Fei
FAE 9

(b) Do you support the Ricardian view of Government debt? Explain with arguments.
TP e Tefbe e ol & azeiioy e S el ¢ Y& T2 P I

(c) ‘The equal sacrifice principle implies progressive taxation’. —Do you agree with
this view? Give reasons for your answer.

ST el Gife enifes s ot d@” g & IfeR e aFwe ¢ comE
e HACF I nie |

(d) Write short notes on the following: 5+5
(1) Fiscal federalism in India

(i) Externality and government intervention.
FRFERE Bl e
() SiRTe AT (Niaeg IIE

(i) JEFS! @R TR TECHF |

N.B. : Students have to complete submission of their Answer Scripts through E-mail / Whatsapp to
their own respective colleges on the same day / date of examination within 1 hour after end
of exam. University / College authorities will not be held responsible for wrong submission
(at in proper address). Students are strongly advised not to submit multiple copies of the
same answer Script.
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